I

T
I

]l AHRELD
Vi=  32.70 = 32.7
T = 32.7 m’ 32.7
VR B C Al + RE ) — (et + HE ) /0.9

V= 32.7 — 0.0 /0.9 = 32.7 m’ 32.7




+: 4 i G B H
N Hll %
s 4 il E(Emhiﬁ Wr m B B B | WmE F Y B | WmE Y &
(m?) (m?) (m®) (m?) (m?) (m®) (m?) (m?) (m®)
NO. 0 NO. 0 + 0. 00 0.00 0.50
NO. 0+2 NO. 0 + 2.00 2.00 0.37 0.44 0. 88
NO. 1 NO. 1 + 0. 00 18. 00 0.34 0. 36 6. 48
NO. 2 NO. 2 + 0.00 20. 00 0. 32 0.33 6. 60
NO. 3 NO. 3 + 0. 00 20. 00 0.26 0.29 5. 80
NO. 4 NO.4  + 0. 00 20. 00 0.32 0.29 5. 80
NO. 5 NO. 5 + 0.00 20. 00 0.28 0. 30 6. 00
NO. 5+2. 4 NO. 5 + 2. 40 2. 40 0.28 0. 28 0.67
NO. 5+5. 0 NO. 5 + 5.00 2. 60 0.08 0. 18 0.47
&t 105. 00 32.70




o>

s TakR

gl

T A7 7 )V Mtk

REEE A=
(t=3cm)

T AT 7 )b Mk A=
(t=4cm)

a7 ) — Mgk

A E
(t=3cm) A=

a7 ) — Mgk
(t=12cm) A=

(258 + 275 ) <+ 2.00 X 2.60
POFRIIE R X R R
6. 90

HERE LD
294. 87

HFEE R LY
294. 87

6. 90

6. 90

294.9

294.9

2

2

6.9

6.9

294.9

294.9




i H i} H 1 R
N = v 7 ) = LIS
M s o owmo & | BE FoOF N m B | W T W @ K| W %N @M
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)

NO. 0 NO.O  +  0.00 0. 00 4.55
NO. 0+2 NO.O  +  2.00 2.00 3. 40 3.98 7.96
NO. 1 NO.1 +  0.00 18. 00 3.10 3.25 58. 50
NO. 2 NO.2 4+ 0.00 20. 00 92.95 3.03 60. 60
NO. 3 NO.3 4+ 0.00 20. 00 2. 40 2.68 53. 60
NO. 4 NO.4  +  0.00 20. 00 2.90 2. 65 53. 00
NO. 5 NO.5  +  0.00 20. 00 9.58 2. 74 54. 80
NO. 5+5 NO.5 4+ 2.40 2. 40 2.75 2.67 6. 41
Al 102. 40 294. 87




2 v 7 U — N 4 3 (100m234 1)

%ﬁ%lﬂﬂﬁ avh 1) — k

RS

(150x 150 x Db)
F
o) ° s o Lo}
______ R S S A S e N
o 5 5 o p—
— o
S sl prs
FEEIE
(RC-40. t=30)
4 i E A BN 5
=227 U—Fk V= 100.000 X 0.120 = 12.000 m?® 12. 00
(21-8-25BB, t=12cm)
B4 A= = 100.000 m? 100. 00
(150 X 150 X D6)
H ikt N= 100.000 = ( 2.880 X 10.000 ) = 3.472 fEPT
(z7A84}, t =1cm) SOEBINE BW=2. 87m
A= 2.880 X 0.120 X  3.472 = 1.200  m? 1.20

Al e A= 100.000 -+ 2.880 X 0.120 X 1.000
= 4.167  m”® 4. 17




SIS LR AEE

B T A A e T AT 7L MFEER N7 ) — REEE LY
TATZ7 7V A= 6.90 + 294.87 = 301. 8
(t=4cm)
>y = 301.8 m 301. 8
ShHEERREINT L= 4,55 4+ 2,40 + 2.75 + 2.10 = 1.8 m 11.8
(F AT 7L F) $No. Of#Hr : 4. 55m
(t=150LL F) $¢No. 21T BT HT @ 2. 40m

¥¢No. 5+5. OFfIKT - 2. 76m
3% No.5+5. OHUAHIFHD ¢ 2. 10m

T LR & 0
(7277n k) V= 3018 X 0.04 = 12.1
T o= 12.1 m’ 12.1
ALY B LY
(7277 b)) V= 1201 = 12.1

X = 1221 m’ 12.1




I TB R A

Tl

ESEIER

(4, #§45cem, Fft « 7' 7)

ESEIER

(1A, i 15em 5, 307 - iL5)

X
(A, tE§15cm, FH)

L

L

L

(f5 17
3.00

(EEh R
18. 60

(HEIESMAHR)
180. 00

18.

18.

180.

180.

.00

.00

60

60

3.0

18.6

180.0
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